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QUESTION 1

Consider the following program code: 

$var = 10; 

package Alpha; 

$var = 20; 

{ 

package Beta; 

$var = 30; 

} 

package Gamma; 

$var = 40; 

{ 

print $var; 

} 

What is the output of this code? 

A. 10 

B. 20 

C. 30 

D. 40 

Correct Answer: D 

 

QUESTION 2

Consider the following program code: 

@array = ("ALPHA", "beta", "GaMmA"); 

@array = sort(@array); 

print("@array"); 

What is the output of this code? 

A. beta GaMmA ALPHA 
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B. ALPHA GaMmA beta 

C. ALPHA beta GaMmA 

D. beta ALPHA GaMmA 

Correct Answer: B 

 

QUESTION 3

Assuming $a = 2, which of the following evaluates as false? 

A. "False" 

B. $a 

C. $a 

D. 1 

Correct Answer: C 

 

QUESTION 4

Consider the following lines of code: 

@array1 = ("apples", "oranges", "pears", "plums"); foreach (@array1) {print "$_\n"}; 

What is the result of these lines of code? 

A. apples oranges pears plums 

B. apples oranges pears plums 

C. apples 

D. apples oranges pears plums 

Correct Answer: D 

 

QUESTION 5

Consider the following statement: 

for ($count=0; $count 

A. 1 2 3 4 5 

B. 5 10 15 20 25 

C. 1 2 3 4 
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D. 0 1 2 3 4 

Correct Answer: D 
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